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 SECTION A 
Choose the correct option. 

 

1 The successor of 3,76,726 is  
a) 3,76,725           
b) 3,76,730        
c) 3,76,727              
d) 3,76,700 

1 

2 The place value of 4 in the number 39458201 
a) 400000     
b) 40000            
c)  400000000    
d)  4 

1 

3 2 million is equal to  
a) 20 lakh           
b) 2 crore 
c)  2 lakh                          
d) 20 crore 

1 

4 For 500 which symbol is used in Roman system 
a) D                         
b) M                  
c)  L                       
d) C 

1 

5 Which is the smallest whole number? 
a) 1                                
b)  0           
c)  2             
d)  3 

1 

6 Solve   13−5 × 2 = 
a) 14                            
b) 3                
c) 10                                        
d) 16 

1 
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 Fill the correct option  

7 5466 × 9779        =   --------- × 5466 1 

8 1000 + 26) + 74  =   --------- + ( 26 + 74) 1 

9 Write LXVII as Hindu-Arabic numerals ------------ 1 

10 77× 0 = --------- 1 

 State whether the following statements are true or false  

11 The symbols  X  stands for 10 in Roman Number system. 
 

1 

12 Zero is not a whole number. 1 

 SECTION B 
Answer the following questions 

 
 

13 Write as Roman numbers 
a) 56 
b) 81 

 
         2 

14 Find the product using distributive property 
 386 × (100 − 52) = 

 
2 

15 Find the sum of  39 + 166  by using suitable estimation? 
 

2 

16 Simplify    72 ÷ 9 × 3 + (4 + 2) 
 

2 
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